[ Efficiency_in_layer_12 §

1

a - 9090000000900 00499,000000000000000000000000900000000040900
c —
2L 09
= =
< 0.8
(b} —
0.7 =
0.6 E=
05 wheel 2 chamber 2 sector 6 sl 3 layer 4 I

O "0 0 40 50

&P

[ Efficiency in_layer 11 |

1

0.9

efficiency

0.8
0.7
0.6
0.5

9 00O TC ST OO0 9000000000000 00000000T0009009%900054000000

wheel 2 chamber 2 sector 6 sl 3 layer 3
10 20

{0

80

[ Efficiency in layer 10 §

1l
0.9
0.8

efficiency

0.7
0.6
0.5

—— PN P

_.m ”.mmﬂomvgvmwm.m“mmﬂﬂ

wheel 2 chamber 2 sector 6 sl 3 layer 2

10 20

[ Efficiency in layer 9 |

3 1|i%""’ R s T e e A T e e 2 e e e S
C —
2 09F
= -
= —
= 0.8 =
0.7 =
0.6 E=
05 wheel 2 chamber 2 sector 6 sl 3 layer 1 I

TO 70 0 40 50

&



